ESE 531 Recitation 1
KM o JT] g KS?

%CW] RN [AC}QS

L Lienr
71 TR - ot e
&%wﬁ/ f&%[@j: % 4lc)

aépd/fv}fm/\ 2 \j f X lh ]+ /ckfﬂjj - j,&n]f jzcmj
P T J{ )cz;z«ﬁvj = gLy

2- 214
cal . Xs @m]~:— élhq
PR SR i A

NpCrd = Sl
(% S & TI - ~hon Xx3Ln) o dsul /beéouf
§th) 4

per 410305 §ca)=) > @D 11

Lé) Cékfh’&/‘* a. S}W qlkmm le’yl cn), )(3 E/\/] /ll;c[;h/\?
X// Lr) = X‘Eﬂ]foLnJ = 2>(5 Ch] 1 2xecn’)

oy L
S g xw)\ = 6{ Xtcni)f%b@nj/j

= S{z&w%z&wf



I gfm Lt mmj

Vot 570 072
S ( 2&55;1/)”,)% z;,v])‘ Zﬂs’ EW42ﬁ4ZWj

(/}%/U 40280 4y 1), { f)

S [& el niad ) = yinds g

/

/H i ) iy\éﬂ
2 )yt S
>‘\’ssmm‘?4ug< ‘ z | ?/]
S r2r § % & 7 A

=) \§ [ @ LTZ
(C)-

@ztf’/] 3 S;(Xﬂ/n) ry
im PURRINES m}g IR arEa

M hty = 61{ §Z/Ivj

Ospn Pt S on) {frow L) X k3

X1 ) STt 3[”’2] - -— ©

)Q (//L] 1 5(:/"/’) + 5 C//LN)’J T 0 @
5 quat): Stmrsmt) o ©

ggn/j = —l—( ZC,/LOT X}C/Mri]‘X} C”—)J

5 s e g, 0|

4.0) \Hfh—l\gl) f J_LL

5
i ‘“LAL /f ;}/ R

/ [ / S ¢
b3 ) Af;{ JQJ\




o =L

2 s Sy rstay)
(d)
i - \Ssgv,cno}

N@OA I &()’Mﬂ"}/uc"f' V/’ch]‘\
v .

)

xien) o
b2

LTT
z ﬁ\(/f"hj%'j\ch-z’]

%2 \;/(/L ! (A4
3 6(1377‘4’ )+ ) l_‘{‘kfll/l;
§i L) e ENEREENR R

S A

§

%’mj: sm+ = dtnp]




